| Efficiency vs Dxy |
.05
S S N N T N T T
]

Y e
) - : : : : : : : : :
B0

Q N N N N N N N N N
L S e
0025F -

0.02f bbb e
QOIS

0
0008
o+

Rat

=
!

098 56-15-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DQM_ttbarPU_mkFit_5iter
[ Efficiency vs Dz | |—=— DQM_ttbarPU_mkFit_5iter_updatedPR111_update

0.1 —— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation
N U, ; T T T
©

.00 -t
L

Q - : : : : :
.@'08: : : : : :
Q r : H H . .
.07 P A AR AR
O o : : : : :

(0] SR S oo L
0.05 : : :
0.04

0.03

0.02

0.01
o+

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


